E @ i @ ﬂl 3207 EREDIERF

&H:_ BI(CE: A7
2 1 1 3
27+3——- = —X —+ ==
7¥373 3732
11 1 3
3 2 6 4
l)(l—é: 1+16+4=
272 2 2
301 1 2 1 3
_ X _— - = _— X e — - =
273 3 372 4
1 1 3 3
27373 B3y T

www.snowmath.com


https://www.snowmath.com

3DDNHE. EREDIEF

]
2 25 1
27:3-2-22 ¢
33
1 11 5
—_F = X - = —
37276 12
113
SV A
G et
301 1 1
— X e — - =
273737 %
11 3 2 7
— _—_:—_:_1_
177 3 O3 ~Clp)

HIZh:

1 1 3 29 11

— X —_F —= — =]—

3 3 2 18 18
3B 3
4 4 T4
L ea=2 -4t
2 2 2

2 1 3 5

392717

3 41 1

- ——:-:1_

B+3-2=, =105

www.snowmath.com



https://www.snowmath.com

